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FoTa 1. (i) State Fermat’s Principle.
Paper : PH-06 wHe w1 fag aHeeT |
Time : 3 Hours | [ Maximum Marks : 35 (i1)) State Coherence requirements for Interference.
Note .— The question paper is divided into three Sections ST B foIT el TS F SEvIRATY
A, B and C. Write answers as per the given
instructions. A |
- a‘a'iqs;: ; ’;[ ng:ha:w ?ﬁ 1%[[ i (iii) Draw Ray Diagram of Michelson’s

Section—A 7x1=7 Interferometer.

(Very Short Answer Type Questions)

qsehodd AfqaRoEdl &1 R o sarEn|
Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one (iv) State Rayleigh criterion for Resolution.
sentence or maximum up to 30 words. Each
question carries 1 mark.
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(v) How is original plane differaction grating

mode ?
uo gHae faada AT S aE ST ¥ 2
(vi) Define Dispersive Power.
fagor emar w1 aftwfefa sifsw)
(vii) Define Holography.
TR 1 AT |
Section-B 4x3%.=14
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 3%, marks.
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. What is Chromatic Aberration ? How can it be

minimised for lenses in contact ? Explain.

ot forder w0 B ¥ 7 TR w gU o @ faw T
FY A9 fRa S gwd § 7 99Emse

. Explain the principle of Laser.

ooR & fagra & 9uemEy |

. Find the relation between Coherent Length and

Weavelength.
Tragdl s 9 q0Rs | GEY A1 ity |

. Establish a relation for visibility of fringes in Fabry-

Perot Interferometer.

Tl - ORI SAfqRoETd § iR &1 gvaa & fou gy

T Shifsy |

. Describe construction and working of Huygen’s

Eye-piece.
TSI AIRT i SAEE o HAfaie ol guiq i |
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7. Explain the refraction by thick lens and derive the [ISs—4q

formula for its focal length. @& 3T 9ve)
T TH § AUAdT GHSEU q4 SHE! W™ g frder o~ fohel & weAl % ST U1 o 9 W T SAfeenan
W@qr——rﬁﬁr@ 500 v § 9REifa FIfT | Yo 99T 7 ST T €|

8. Explain the Fraunhofer diffraction due to circular 10. Describe Newton’s ring’s method for measuring the

wavelength of monochromatic light and give the
aperature.

necessary theory.
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9. Define the cardinal points of a coaxial lens system.

T I GH-a3 & JuH faged w1 aRymen i

T
Section—C 2x7=14 11. Explain the principle of the Fabry-Perot
(Long Answer Type Questions) Interferometer. Obtain an expression for the
Note .— Answer any two questions. You have to delimit intensity distribution in the transmitted light.
your each answer maximum up to 500 words. Thesit-TR) AR gl 1 fag THET | IRIHT JehTel
Each question carries 7 marks. T daar famo & fau =9 g ity |
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12. Derive an expression for the chromatic resolving
power of a prism placed in the position of

minimum deviation.
wprm faue # fefs § w@ fow oAl fadea
Gl % feTT =St o= hifsT |

13. Explain the construction and working of He-Ne

Laser.
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